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CHARACTERISTIC CURVES Effective  Oct 2015
/..-—...\ea - Models: GX2.5, X2.5, XH2.5 Replaces Dec 2007
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Note: Non-metallic vanes Only.

Note: Non-metallic vanes Only.

Blackmer Characteristic Curves are based on Brake Horsepower (BHp). To determine Motor Horsepower, drive

train inefficiencies must be added to the BHp.

Actual capacities are dependent upon the vapor pressure of the liquid and the inlet conditions of the system.

*Centipoise (cP) to SSU conversion is based on a fluid specific gravity of 1.0.
Centipoise = centistokes at 1.0 specific gravity.
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CHARACTERISTIC CURVES
Models: GX2.5, X2.5, XH2.5

100 CP {500 SSU}*

160 €00
140
o] -1 600
3 10 s o |
H
" - 400
g 100 53]
2
% 80 370 =) 300
S w fsso | 7
3 -1 200
40 230
- 100
20
120
4} 0
20
414
18
o 16 12
[
314 a
E 110 &
x 12 640 [RPM 8
g 10 o 1o &
. PEMBCI
[+] il a0
I - o
b / Lpser] 4/— 350 5
| = H1a
Ll [
% a ] : - e
s et
2 // e =] 120 2
femmmrer 'F_-'_-—_

o [+
0 10 20 30 40 50 & 70 80 90 100 110 120 130 140 150

DIFFERENTIAL PRESSURE {FSI)
L ! 1 | L 1 1 1 1 1

1

o 100 200 300 400 500 600 700 800 900
KILOPASCALS

Note: Non-metallic or metallic vanes.
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200 CP {1000 SsuU}*
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Note: Non-metallic or metallic vanes.

Blackmer Characteristic Curves are based on Brake Horsepower (BHp). To determine Motor Horsepower, drive
train inefficiencies must be added to the BHp.

Actual capacities are dependent upon the vapor pressure of the liquid and the inlet conditions of the system.

*Centipoise (cP) to SSU conversion is based on a fluid specific gravity of 1.0.
Centipoise = centistokes at 1.0 specific gravity.
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CHARACTERISTIC CURVES
Models: GX2.5, X2.5, XH2.5
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Note: Non-metallic or metallic vanes. Note: Non-metallic or metallic vanes.

Blackmer Characteristic Curves are based on Brake Horsepower (BHp). To determine Motor Horsepower, drive
train inefficiencies must be added to the BHp.

Actual capacities are dependent upon the vapor pressure of the liquid and the inlet conditions of the system.

*Centipoise (cP) to SSU conversion is based on a fluid specific gravity of 1.0.
Centipoise = centistokes at 1.0 specific gravity.
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CHARACTERISTIC CURVES
Models: GX2.5, X2.5, XH2.5

2100 CP (10,000 SSU)*
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Note: Non-metallic or metallic vanes. Metallic vanes

recommended above 2100 cP (10,000 SSU).

LITERS PER MINUTE

4250 CP (20,000 SSU)*
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Note: Metallic vanes recommended.

Blackmer Characteristic Curves are based on Brake Horsepower (BHp). To determine Motor Horsepower, drive

train inefficiencies must be added to the BHp.

Actual capacities are dependent upon the vapor pressure of the liquid and the inlet conditions of the system.

*Centipoise (cP) to SSU conversion is based on a fluid specific gravity of 1.0.
Centipoise = centistokes at 1.0 specific gravity.
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